4.5 Rectangles.notebook November 30, 2018

DO NOW

In parallelogram RSTU, m£R = 5x —2 and
mZS = 3x + 10. Determine and state the value of x.

S N

310 A 10+ Sy-2 = 1$0
Sx-2 %X +% = [60
K U Tx=179

Jan 31-9:57 AM

A rectangle is a parallelogram with one right
angle

Dec 10-10:26 AM
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Properties of a Rectangle
B C

A D
ALL the properties of a parallelogram PLUS:
e Fourright angles

 The diagonals are congruent
AC =~ BD

Dec 10-10:29 AM

1) Inrectangle ABCD, AC = 5x - 20 and
BD = 3x. Find AC.

B & Aéfgzl(ﬁ’a@
D C
OX=5x-20
X TS« % =10
ax=-30

S 73

Dec 10-10:52 AM
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2) Inrectangle ABCD, m «£CAB = 35. Find
WECDBp mLADR

B C
£ ¥
-5 2
A D
Mz ADR= ’553

Dec 10-10:47 AM

Given: ABCD is a rectangle D C
M is midpoint of AB
Prove: DM =CM 1 —s
>

Statements Reasons
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L\> LA= LB 4)?-\- e =2
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